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1 0.69 0.21 2.000 16.000
13 32 0.17 13.000 43.000
(ng- TEG 1) 14 0.855 0.48 0.860 0.032 80
15 0.113 0.11 0.027 0.016
16 0.2035 33 0.17 0.038
1 0.049
13 0.044
(pg-TEIL) 14 0.34 10
15 0.012
16 0.069
© *28 *1.1 *0.590
13 *8.1 *0.51 *0.150 3
(ng- TEJ9) 14 *3.7 *0.58 *0.700 *0.300
15 *0.815 *1.4 *0.0000077 *3
16 *1.8 *15 *0.34 *1.8
© 0.026 *0.038 2.300
13 0.044 *0.074 0.054
(ng- TEJ9) 14 0.0168 *0.046 0.0062 0.0055 3
15 0.0064 *0.036 0.35 0.017
16 0.000095 *0.033 0.026 0.0016
13 0.069
14 0.032
15 0.010
16 0.035 0.6
(pg-TEI M) 13 0.06 '
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15 0.0088
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13 0.13
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16 0.11
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(pg-TEIQ) 1 21 1,00
13 20
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